PART - C T -9

Reasoning Ability TR —udteror
(Expected Answering Time : 60 Minutes) (eraféra I awa : 60 fore)
51. What is the number of squares in the 51. F=feriaa TRt # Tl ot T fereHt
following figure ? 27
(1) 18 . (1) 18
2) 14 2) 14
(3) 10 (3) 10
4 9 4) 9
52. Given that 52, A= ifse
(i) A is the mother of B (i) A, BH AT
(i) CisthesonofA (i) C,A®IIIR
(iii) D is the brother of E (iii) D, E &1 91 3
(iv) E is the daughter of B (iv) E,BHRI Tt 8
The grandmother of D is D i 1t 2
(1) A (1) A
(2) B ) B
3) C 3) C
(4) E (4) E
17 [P.T.O.
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